240 (KIT-LIGHT-SN3)
241 (KIT-LIGHT-SN5)

MM o
S —

6§ 17 5
102"

37 /
117

@ 080 BL-SMALL-SN
001 | 25/02/11 | 035949




Dis
037
038
039
040
041
042
044
045
046
047
050
063
229
240
241

BARRA SNODATA BL-SMALL-SN

rif.espl. 035949 rev.001

PARTICOLARI A DISEGNO PARTICOLARI COMMERCIALI

Cod Descrizione Dis Cod Descrizione

028527  DIMA DI FORATURA BL-SMALL-SN 100 031382 SNODO SFERICO FE10U acciaio + PTFE
028495  TIRANTE BL-SMALL-SN cataf.+verniciatura 101 031522R  CAPPUCCIO PROTEZIONE m 6 NERO 30pz
028494  TERMINALE TIRANTE BL-SMALL-SN 102 032171R  VITE TE M6x 16 INOX 30pz
028496  SUPPORTO SAGOMATO BL-SMALL-SN 103 032143R  VITE TE M6x 10 INOX 30pz
028490  DISCO SX BL-SMALL-SN 104 032183R  VITE TE M10x 20 INOX 30pz
028491  DISCO DX BL-SMALL-SN 105 032194R  VITE TE M6x 60 INOX 10pz
028497  PIATTO DI SPESSORAMENTO BL-SMALL-SN 106 032506R DADO ABL M6 INOX BASSO  30pz
028488  CERNIERA LATO MOBILE BL-SMALL-SN 107 032507R  DADO M10 INOX 10pz
028489  CERNIERA LATO FISSO BL-SMALL-SN 108 032534R  DADO ABL M8 INOX BASSO 30pz
028498  SUPPORTO CAVO INTERNO BL-SMALL-SN 109 032537R DADO M 8 6S ZB 30pz
028493  PERNO CERNIERA+DISCHI BL-SMALL-SN 110 032602R RONDELLA 6-18-1.5 INOX 30pz
029001  PIATTO ANCORAGGIO INTERNO SNODATA 111 032611R RONDELLA SPACCATA 8ZB 30pz
040382  ASS. ANCORAGGIO ESTERNO BL-SMALL-SN 112 032614R RONDELLA SPACCATA 10 INOX  30pz
041623  ASS. CAVO LUCIKIT-LIGHT3 BL-SMALL 113 032619R  RONDELLA M10 INOX 30pz.
041625  ASS. CAVO LUCIKIT-LIGHT5 BL-SMALL 114 032634R  RONDELLA M 8 INOX 30pz

116 032665R RONDELLA M 6 INOX 30pz

117 016233 BOCCOLA COLLARE 10-14-18-3 L=10
118 025327R  SPINA EL. SPIROL 8x25 10pz
119 031299R CAPPUCCIO PROTEZIONE m 8 NERO 30pz

Cod

ASSEMBLAGGI CONSIGLIATI

Descrizione

pz
conf.

€
conf.




